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1. Overview of corporate finance.

  (a) List and explain three basic questions addressed by a financial manager. (9%)

(b) The managers of a firm wish to expand the firm’s operations and are trying to determine the amount of debt financing the firm should obtain versus the amount of equity financing that should be raised. The managers have asked you to explain the effects that both of these forms of financing would have on the cash flows of the firm. (8%)
(c) Identify the four primary determinants of a firm’s growth and explain how each factor could either add to or limit the growth potential of a firm. (8%)

2. Time value of money

(a) You are considering two annuities, both of which pay a total of $40,000 over the life of the annuity. Annuity A pays $4,000 at the end of each year for the next 10 years. Annuity B pays $2,000 at the end of each year for the next 20 years. Which annuity has the greater value today? (9%)

(b) Why do corporations issue 100- year bonds, knowing interest rate risk is highest for very long-term bonds? How does the interest risk affect the issuers? (8%)

(c) Billy wants to purchase shares in Big Jones, Inc., but is torn between buying shares of common stock or shares of preferred stock. What should he consider before determining the type of share he should purchase? (8%)
3. Mark Corp. is an all equity firm with 10 million shares outstanding and $100 million worth of debt outstanding. Its current share price is $75. Mark’s equity cost of capital is 8.5%. Mark has just announced that it will issue $350 million worth of debt. It will use the proceeds from this debt to pay off its existing debt, and use the remaining $250 million to pay an immediate dividend. Assume perfect capital markets.
(a) Estimate Mark’s share price just after the recapitalization is announced, but before the transaction occurs. (7%)

(b) Estimate Mark’s share price at the conclusion of the transaction. (7%)

(c) Suppose Mark’s existing debt was risk-free with a 4.25% expected return, and its new debt is risky with a 5% expected return. Estimate Mark’s equity cost of capital after the transaction. (6%)
4. Light Sweet Oil has outstanding 1 million shares with a total market value of $20 million. The firm is expected to pay $1 million of dividends next year, and thereafter the amount paid out is expected to grow by 5% a year in perpetuity. Thus the expected dividend is $1.05 million in year 2, $1.105 million in year 3, and so on. However, the company has heard that the value of a share depends on the flow of dividends, and therefore it announces that next year’s dividend will be increased to $2 million and that the extra cash will be raised immediately by an issue of shares. After that, the total amount paid out each year will be as previously forecasted, that is, $1.05 million in year 2 and increasing by 5% in each subsequent year.
(a) At what price will the new shares be issued in year 1? (8%)
(b) How many shares will the firm need to issue? (7%)
(c) What will be the expected dividend payments on these new shares, and what therefore will be paid out to the old shareholders after year 1? (8%)
(d) Show that the present value of the cash flows to current shareholders remains $20 million. (7%)

